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1. Which of the following will you not use to measure length?
A. Vernier calipers
P
\B.) Meter rule
C. Odometer
6){' Spring balance

2. The magnitude of an electric current is given as the ratio of the electric charge measured
in coulombs to the time measured in seconds. What is the derived unit of electric current?
@ Coulomb per second 53
B. Second per coulomb
C. Coulomb
D. Second

w

A boy travelled from Kofikrom to Amakom by bus. If the distance between the two towns
is 8km? What is the distance covered by the man in meters?

A, 800m

B. 0.08m

€. 8Bm B
(@) 8000m |
4, Which of the following megstring instruments will you use to measure the length of a
gurved straight line?
@ Opisomete;

B. Meterrule
C. -Micrometer screw gauge
D. Vernier calipers

5. Consider the equation, ¢ = f + B«
A. ML? ‘
B. ML-2

© ML
D. ML2 ®
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Momentum is the pro of mass and velocity. Which of the following then is the
dimension of morreéntum?
(&) MLT Memertun = mass ¥ Gelsaty

B\ MLT-2 TRl

C. ML2T M x L

D. ML2T2 Pl T

30.0cm3 of wood ash has a mass of 90.0g, What is the density in kg/m?3 AR

fo. 0. 83 m= Go-O e e
. 3 2 ST

C. 330.0 N ol 8L \ 20 O

(D, 3000. - 33\(7,, e

When a body is i unstable equilibrium, the centre of gravity lies outside jts baseand a -
small displacerfient causes it to roll over and settle at its new position. U !gj ma = h\\}g @,53.5
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B. False - gﬁs(?ﬁ X

10. One kilometre (1 km}4s equivalent to ... \8 C'm =|SDO A3
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(G 109mm ‘

D. 102Zmm

11. Ifa clock measures time, what will be used in measuring the thickness of human hair?

A. Metric rule

B. A pair of calipers

C. Vernier caliper
Micrometer screw gau

12. The cgs system or metric system measured length in

&) meters

B. centimeters
C. kilometers
D. millimetres

13. A net force F is required to give an object with mass m and acceleration a. If a net force 6F

is applied to an object with mass 2m, what is the acceleration on this object?

A a
B. 2a / i hyrey ﬁt =+ Q/ =3
@© 2 - B B o 0

D. 4a

14. Which one of the following terms is used to indicate the natural tendency of an object to

remain at rest or in motion at a constant speed along a straight line?
A. Acceleration
B. Velocity

U nqu‘umn (13361

O Inertial

O¥



15. Which of the following symbols represent the SI unit of work?
A A
(% = /
C) Nm
D. W

16. A cuboid of mass of 120 grams is 2cm wide, 3cm high and 4cm long. What is its density?

A. 0.2kgm-3
B. 2 kgm-3
C. 0.5 kgm-3
@ 5 kgm-3

17. Convert 450g to kg. WD
A. 0.0045kg *,’Si)j g o

® 0.045kg é
C. 0.45kg o* '\"S k:} ‘
D. 4.5kg

18. A and B are in thermal equilibrium. This means ttfat
A and B have the same temperature
B. Ahas a higher temperature than B
C. Alistransmitting heat to B
D. B has a higher temperature than A

19. The force in fluids that makes obj

e T T P T T PR PR S PR S L S R

20. Differentiate between force of gravity and gravitational forge.
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s weigh less than they do when outside the fluid is




